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Global Nutrient Cycling - Biogeochemical Cycles
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10"2g = 1 teragram = 1 Tg = pool size / mean flux in or out of pool
10°g = 1 gigaton = 1 gt Fractional Turnover =1/ MRT

106 g = 1 metric ton = 1 tonne = fraction that is removed and replaced per unit time
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The Geologic Cycle > A o

Powered by Solar & Geothermal Energy s DSOLAR
£y Qa
Weathering
Erosion |

Uplifting
ncovering

Critical for
Driving the
GEOTHERMAL Cycle




The Global Water Cycle Pools (km?)
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The Global Phosphorus Cycle
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Global Nitrogen- Transformations
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Figure 51.13b

Nitrogen Fluxes
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Figure 51.10a upper

Hubbard Brook Experimental Forest, New Hampshire

' Choose two similar watersheds. :
Document nutrient levels in soil organic matter, plants, and streams.
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Figure 51.10a lower

Clearcut Contro

1
Devegetate one watershed and leave the other ir‘tact.
Monitor the amount of dissolved substances in streams.

Figure 51.10b

Nutrient runoff results
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The Global Carbon Cycle
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Ice Core Data Showing Changes in
Atmospheric CO, Concentrations
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Why didn’t CO,
increase?
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